
Division par 10² (J)Trouvez chaque quotient.
4,785 ÷ 10² = 8,17 ÷ 10² =
9,2893 ÷ 10² = 1,423 ÷ 10² =
9,366 ÷ 10² = 3,36 ÷ 10² =
5,5 ÷ 10² = 4,74 ÷ 10² =
8,526 ÷ 10² = 5,65 ÷ 10² =
9,85 ÷ 10² = 1 ÷ 10² =
8,36 ÷ 10² = 5,549 ÷ 10² =
4,92 ÷ 10² = 1,3468 ÷ 10² =
5,28 ÷ 10² = 3,3 ÷ 10² =
9,8 ÷ 10² = 4,5061 ÷ 10² =
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Division par 10² (J) SolutionsTrouvez chaque quotient.
4,785 ÷ 10² = 0,04785 8,17 ÷ 10² = 0,0817
9,2893 ÷ 10² = 0,092893 1,423 ÷ 10² = 0,01423
9,366 ÷ 10² = 0,09366 3,36 ÷ 10² = 0,0336
5,5 ÷ 10² = 0,055 4,74 ÷ 10² = 0,0474
8,526 ÷ 10² = 0,08526 5,65 ÷ 10² = 0,0565
9,85 ÷ 10² = 0,0985 1 ÷ 10² = 0,01
8,36 ÷ 10² = 0,0836 5,549 ÷ 10² = 0,05549
4,92 ÷ 10² = 0,0492 1,3468 ÷ 10² = 0,013468
5,28 ÷ 10² = 0,0528 3,3 ÷ 10² = 0,033
9,8 ÷ 10² = 0,098 4,5061 ÷ 10² = 0,045061
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